1 | Hint: Dlstnbutlve property 2 Hundreds 3 | Hint: Number line is arranged in
=55(112 - 12) ascending order.
=55 100 e iy
= 5,500 81T 0 1 17
=8, "1, 0, 11, 17 o
4 _ 31 11 ] : 51 _r4 3 6 Cny
= 1000 * 10 +G .0 SA/’Y = (w x 1000) :l) ? 1|4,_2[§_‘_1~_6_,
341 e . S - -
= 10,000 0.03 = UGS TE ¥6 Fh F6
= 0.0341
7| 4 litres = 60km 8 215 24| 40 = 2x2x2x3x5 9| T2 |48 48=2x2x2x2x3
1litre = (60km + 4km) 2115112 | 20 =120 7 1 24
. 60 x 16 ordf=24x3 -
16 litres = ( )km 211516 |10 2 |12
16 litres = 240km 3|15 3|5 776
5|5 |1 "3 3
1 1 R
|10 4(x+1)=2x+7 114§ =100%+9% 121 $? = 625cmn? e T
4x+4=2x+7 = 109% Js? = /625cm? .
| 4x——2x='_7—y4 _}_g_gx240kg S =25cm
| - 100
| 2x=3 P=5x4
oy 8 =261.6kg
—_—=— = 28em X4
| 2 2 o
‘ - 175 = 1060cm )
| ; ' 5 T T
13 4 6 7 X 14 =2 % 2,000Frw 15 (4 X 2)x y3+72)
9 13 y 25 4 g6y
2x+1=y2x+1=y = 1,500Frw # ) -
2Xx7+1=y2x+1=25 3
14+1=y2x=25-1 i
2x 24 b
15 = y— = — -
2 2 -
x = 12 . - PSS ——— s s o ampa . S
16 | 1cake = 1.25kg 17| C=mnD 13 3 o
s . ' = 75 X 150m
6cakes-—(100x6)kg =3.14 x 30cm o
314 x 30cm = ki
= 7.5kg of flour =100
= 94,2cm
19 [ 10men = 4days 20 | x = 180° — (80° + 30%) 21|, PATXE T
1man = (4 x 10)days _ T 100
/4% 10 x =180° - 110° 1, 200,600 x 3 x 8
8men = ( -) days ¥ =700 Y v e ——
= Sdays _ | 1=288,000Fry
2|45=40+5 123 a=Lxw 24 | = (45 x 1000)g + 65g + (1000 + 1000)g
=XL+V = 13cm X 6cm = 45,000g + 659 + 1g
= XLV = 78cm? =45,066g
25 | $% = 64cm? 2% | P=spP—cpP 27| X 1248 '
- : = 6,000Frw — 5,000Frw 8 B
2 = 2 s .
V52 = Jescm = 1,000Frw x+20
S=8cm P T 7 J
. %P = P x 100 .
; = x4+ 20= 3
v=S$ 1 000 x4+ 20 = (9 x 3) )
= 8cm X 8cm X 8cm =s,000x10 x=27-20
= 512cm? =20% X =7 .
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. . {18 x 50 .
30 children = (T) days
= 30days

40 | FUNT; Ve CaN yse proportions 12 = (V& 6% - VZ5) =9 0 x 1 _' 12. 1713 ; A4 ] 15 l
50min = 45km = (8~5)=3 WEERERE 1T 11 ,
% 45 - 3 . 3 - T
1min = (—5-(—)) km ? (a). Modg = 11years
: =1 . .. sumofages
(2hr)120min = (4—5 X 120) km A A b o it
50 =(l.1x4)+(12x3)+(13x1)+(Mx1)+(15x1)
=10 10
1t _ M +36+13 414+ 15
- 10
122
= _16‘ =t 12.2
31 13t year 32\ p=JHz p2 33 Part (a)
PXT xR Height ‘ism = Length(L) .
=""—x‘“1‘5‘§*“" = ﬂlOcmx 10cm) ~ (6cm x 6¢cm) etght of prism 5 BYEALL)
1,000,000 x 1 x 6 - : Vol = 48cm
= 100 = \/1006721 —-36cm bxh PR
. ——— X L = 48cm
I =60,000Frw = Jetem? 2
. 4cm X 3cm x L "
A =1,000,000F + 60,000F - = 4gem’
=1,060,000Frw 6cm? x L = 48cm* -
2nd Mear A= b X h — 4‘8CTi
P XT xR 2 Gk
- 100 6cm X 8cm L=8cm
_ 1,060,000 x 1 x 6 = ) Part (b)
- 100
- 2 :
I =63,600Frw = 24cm H = /bt  p2 ‘
A=1,060,000F + 63,600F = \/(’X'L‘?n X4em) + (3cm X ;—6»1;;)‘
= 1,123, 600Frw =/16¢cm? + 9cm?
, 31 year =/25cm?
P X T xR =5¢cm
oo TSA = (bx h)+ L(b + h -+ 1)
1,123,600 x 1 x 6 k ’ o
B 100 = (4 X3)em?+8(4+4 3 5)em?
I = 67,416Frw = 12em? + 8 X 12¢m?2
A=1,123,600F + 67,416F = 12c11% + 96cm?
=1,191,016Frw = 108cm*
34 Part(a) - 35 Part (a) 36 | Teacher'sguidance
Beans + Maize = Mixture Hint: First remove the brackets then
8kg + M = 20kg cross multiply.
M = 20k - Ok 4x -2 3x+9
g - Ukg 3 - 3
M = 12kg 33x+9) = 2(4x — 2)
20kg mix = 12kg maize 9x+27=8x—-4
. 12 . 9x ~ 8x =4 - 27
1kg mix = Eb-kg maize x="31
12 x 35
35kg mix = (-— 30 )kg Part (b
— 21k y =ZXmMXm—-3Xnx+2Xp
= 21kg of maize =2X2X2-3X3+2X5
Part (b) =8-9+10
50 children = 18days =8410-9
1 child = {18 x 50)days =18-9
=9

37| Teacher'sguidance
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